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1. KpnTeplm U CpeACTBA ONCHUBaAHUSA KOMIIeTEHIIMH 1 HHAUKATOPOB UX TOCTHKCHUSA, (l)OpMI/IpyeMLIX JUCHUILIINHOMN (MO)Iy.]'IeM)

Kox n KoJ M HAMMeHOBANNE HHIMKATOPA(0E) Pe3ysabTaThl 00yUeHHsI IO AUCHUILTHHE (MOAYJIIO) OuneHouHble OuenounbIe
HAauUMCHOBAHHEC JOCTHUKCHUSA ;:Elf;lf;;i cpeacrea .
KOMIIETCHI MU KOMIIETCHIIUH 3nams Vems Bradems KOHTPOJIs! IPOMEKYTOYHOH
aTrTecranumu
YK-5: Criocoben | 5.1 Amnanuzupyer BAOKHEWIINE | TeMAaTHYECKUI paboTaTh ¢ HaBbIKAMU - TUTIOBBIE PaGora Ha
aHAIU3UPOBATh U | UACOJIOTUUYECKUE U LIEHHOCTHBIE CHUCTEMBI, | CIIOBaph; pi (N (0):10) paboTHI C 3afiaHus Ui 3aHATHAX
YUUTBIBATE c)OPMHUPOBABIINECS B XOJ€ HCTOPUYECKOTO | OCHOBBI JTOKyMEHTaluel Ha | IeN0BOM BBITTOTHCHH Tecr
pa3zHooOpasue pa3BUTHSA; 0OOCHOBBIBAET AaKTYaJIIbHOCTh UX | OpraHU3alluu SI3BIKE, BKJIIOYAst KOppECHOHIeH HpaKTnge(_:KHX
KYJIBTYp B UCIONIb30BaHUS  IPU  COLMAJIBHOM U | JCJIOBOM Takue GOpMBI Kak | IHEi; ) TIZ‘,?)T?)?;;IG
mporecce npodeccnoHanTbHOM B3aUMOJICHCTBUU KOMMYHHKAIIUU | pe3tome, On3Hec- HaBbIKAMU 3a/aHus;
MEXKYJIBTYpHOTO | 5.2 BricTpauBaer COLMAJIbHOE | HA AHTJIMMCKOM | IUIAH, IE€JI0OBAst MPOBEAECHUS
B3aMMOJICHCTBHS | MPOPECCHOHAIBHOE  B3aUMOJICHCTBUE  C | SI3BIKE; Mpe3eHTalus, JIMHTBOCTHIINC
Y4€TOM OCOOEHHOCTEM OCHOBHBIX (HDOPM | OCHOBHBIE JIEIIOBOE TTUCHMO; TUYECKOTO
HAy4HOTO M  PEJIUTHO3HOTO  CO3HaHHs, | (GOPMBI IeJI0BOM | paboTaTh CO aHaiamn3a
hi () (0):10)% u oOrieit KYJIbTYphI | JOKYMEHTAI[UU | CIOBAapsAMH, JI€JI0BOTO
MpEeACTaBUTENEN  JAPYrMX  3THOCOB M | HA QHIVIMMCKOM | SHUUKIIONEIUSIMHU U | TEKCTa
KoH(eccui, pa3TUYHBIX COIIMATBHBIX TPYI | S3BIKE U JIPYTUMH
53 ObecneunBaet CO3JlaHHe | CIIOCOOBI ee CIPaBOYHBIMU
MOJINKYJIBTYPHOM Cpelibl B3aUMOJAEUCTBUS B | BEJCHUS MarepuasamMmu
KOJIJICKTHBE npu BBITIOJTHCHUH TEMaTUYECKON
npodeccnoHanbHbIX 3a7a4 HaIpaBJIE€HHOCTH




2. Ouenka ypoBHsi cGOPMHUPOBAHHOCTH KOMIETEeHIMH (MHAUKATOPOB UX JIOCTHKEHHUS)

IToxazarenn IIIkaa 1 KPUTEPHHU OLICHKH YPOBHS COPMHPOBAHHOCTH KOMIIETEHINI (MHINKATOPOB MX IOCTH/KEHHUS)

OUEHHBANMIE Huske noporosoro IHoporossrit IIpoaBuHYTHIH Broicokuii
KOMIIETEHIH («Hey0081em8oOpUMENbHOY) («yooeremeopumenvHo») («xopouioy) («omauuno»)
(MHANKATOPOB

HX JTOCTHKEHHUS)
IHosnnora YPOBEHBb 3HAHUI HUXKE MuHuMaJbHO NOIyCTUMBIA YPOBEHb YpoBeHb 3HaHHH B 00bEME, YpoBeHb 3HaHUil B 00BEME,
3HAHUH MUHUMAJIBHBIX TpeOOBaHUI. 3HAHUH. COOTBETCTBYIOIIEM [IPOrpaMMe COOTBETCTBYIOIIEM [IPOrPAMME
Nwmenun mecto rpyObIe OITHOKH. JormyieHsl He TpyOBIe OMIHOKH. MOATOTOBKH. MOATOTOBKH.
JonyiieHbl HEKOTOPbIE MOTPELIHOCTH.
Hanuune IIpu BBINONHEHNU CTAaHIAPTHBIX [IpoeMOHCTPUPOBAaHBI OCHOBHBIE IIponemoncTpupoBaHsl Bce OCHOBHBIE | I[IpoeMOHCTpUpPOBaHbI BCE OCHOBHBIE
yMeHHit 3a/1aHUi HE MPOJIEMOHCTPUPOBAHBl | YMEHHUSI. YMEHHUSL. YMEHHUSL.
OCHOBHBIE YMEHHUSI. BrinosnHeHs! TUIIOBBIE 3aJaHUS C HE BrinosiHeHb Bce OCHOBHBIE 33JaHUS C BrinosHeHs! Bce OCHOBHBIE U
Wwmenu mecto rpyObIe ONIHOKH. rpyOBIMHU OIIHMOKAMH. HEKOTOPBIMU MOTPEITHOCTSIMH. JIOTIOJTHUTENBHBIC 3aaHus 0€3 OIUOOK U
BrImonHeHs! Bce 3ajaHud, HO HE B BrInoHeHs! Bce 3a/jaHus B IOJTHOM MOTPEIIHOCTEH.
MOJTHOM 00beMe (OTCYTCTBYIOT 00bEMe, HO HEKOTOPBIC C HEOUSTaMHU. | 3aJaHUs BBIOJHCHBI B IOJIHOM 00beMe
MOSICHEHMS], HETIOJIHBIE BBIBOJIBI) 6e3 HeI0UETOB.
Hannune IIpu BBINIOJIHEHUY CTaHJAPTHBIX Hmeercs MUHUMAaNBHBIA HAOOp [IponemoHcTpUpOBaHbI 0a30BbIE IIponeMoHCTpUPOBaHBI BCE OCHOBHBIE
HABBIKOB 3aJlaHUH He MTPOAEMOHCTPHUPOBAHB! | HABBIKOB JUISI BBITOJTHEHHS HaBBIKY TIPU BBITIOJTHEHUHT YMEHHS.

(BaaaeHNe ONBITOM)

6a30BbIC HABBIKH.
Nwmenu mecto rpyObIe ONTHOKH.

CTaHIApTHBIX 3a):[aH1/1171 C HCKOTOPBIMHU
HEA0UYCTaMU.

CTaHJAAPTHBIX SaHaHHﬁ C HCKOTOPBIMH
HCJO0YCTaMHU.

BrInoHeHs! Bce OCHOBHBIE
JIOTIOJTHUTENbHBIC 3aJaHns 0e3 OInOO0K 1
MOTPEIHOCTEH.

IIponeMoHCTpUpPOBaH TBOPUYECKUI
TIOJIXOJ] K PEIICHHUIO HECTaHJaPTHBIX
3a1ad.

Xapakrepucruka
copmupoBaHHOCTH
KOMIIeTeHIIUH

Komnerenmyn pakTHIecKu He
c(OpMHUPOBAHEL.

Nmeronuxcs 3HaHUN, YMEHUH,
HABBIKOB HEJIOCTATOYHO JIJISI
pENIeHUs TPAKTUIECKUX
(mpodeccuoHanbHBIX) 3a1a4.

W

3adyeTHOe KOJMYEeCTBO OaIoB HE
HaOpaHO COTJIacHO
YCTaHOBJICHHOMY JMAIa30Hy

CdopMupoBaHHOCT KOMIIETEHITHIA
COOTBETCTBYET MUHUMAIIbHBIM
TpeOOBaHUSIM.

Nmeronuxcst 3HaHUM, YMEHUH,
HaBBIKOB B II€JIOM JIOCTaTOYHO /IS
pemeHns MPaKTHIeCKUX
(mpodeccruoHaBHBIX) 3a7a4.

N
Ha6paH0 3a4€THOE KOJHUYECTBO OallIOB
COTJIACHO YCTAHOBJICHHOMY AWAIIa30HY

CchopMupoBaHHOCTH KOMITETCHIIAH B
LIEJIOM COOTBETCTBYET TPEOOBAHHSM.
Mmeromuxcst 3HaHUM, YMEHUH,
HAaBBIKOB JIOCTaTOYHO JIJISI PEIICHHS
CTaHIAPTHBIX IPO(PECCHOHATBHBIX
3a1a4.

N
Ha6paH0 3a4€THOE KOJUYECTBO OAILIIOB
COIJIACHO YCTAHOBJICHHOMY AMANa30HY

ChopMupoBaHHOCTH KOMITETCHITHI
MOJIHOCTBIO COOTBETCTBYET
TpeGOBaHUSM.

Hmeromuxcst 3HaHUM, yMEHUM, HaBBIKOB
B IMOJTHOM Mepe OCTATOYHO JJIs
PENICHHUs CIOXHBIX, B TOM YHCIIE
HECTaHIAPTHBIX, MPO(HECCHOHATLHBIX
3a/1a4.

NI

Habpano 3a4eTHOE KOJIHYECTBO OAIIIOB
COIJIACHO YCTAHOBJIEHHOMY JHMAaNa3oHy




3. Kputepun u mkaja oneHMBaHUs 32IaHUI TEKYIIIEr0o KOHTPOJIsI

3.1 Kpurepun ¥ mkaia olleHUBaHUs IPAKTHYECKUX pPadoT

[Tepeuens mpakTUYECKUX padOT, OMHCAHHME TOPSAKA BBIMOTHEHHS M 3alIUTHl PabOTHI,

TpebOBaHUs K pe3yjibTaTaM pabOThl, CTPYKTYPE U COACP’KaHUIO OTUETA U T.I. MPEACTABICHBI B

MCTOANYCCKUX MaT€pualax IO OCBOCHHUIO AWUCIHUIIIMHBI (MO,I[y.]'I?I) H B JJICKTPOHHOM KYpPCC B

OUOC MAY.
Ouenka Kpurepuu ouenuBanus
Omauuno 3amanue BBITIOJTHEHO TIOJIHOCTBHIO u MIPaBUIHHO. Oruer o
nmabopaTOPHOI/IPaKTHIECKOW paboTe MOATOTOBICH KaYECTBEHHO B COOTBETCTBHH C
TpeboBaHusAME. [I0THOTa OTBETOB Ha BOIIPOCHI IIPENOAABATENS IPH 3aLTHTE PAOOTHI.
Xopowo 3amaHue BBIMOJHEHO MOJHOCTHIO, HO HET JOCTATOYHOTO OOOCHOBAaHUS WM IIPU
BepHOM peIlICHI/II/I ,uonymeHa HCE3HAYUTCJIIbHAS oum61<a, HC BJIUAKOLIAA Ha
MPaBUIBHYIO MOCICAOBATEIBHOCT PAacCyXaeHUI. Bece TpeOoBaHus, MpeabsBIsiCMbIC
K paboTe, BHITIOJHEHBI.
Yooenemeopumenvno | 3amaHusi BBINOJHEHBl YaCTUYHO C OLIMOKaMu. J[eMOHCTpHpYeT cpeqHHH YpOBEHb
BBITMIOJIHCHUSI 3aJIaHUsI Ha J1a0OpaTOPHYIO/TIPAKTHUYECKYI0 paboTy. BoibHIMHCTBO
Tpe6OBaHHﬁ, Hpe}l’bﬂBﬂﬂeMLIX K 3aJ1aHU10, BBITIOJTHCHBEI.
Heyoosnemeopumenwvho | 3a7aHue BBIIIOIHEHO CO 3HAYUTEILHBIM KOJIMUECTBOM OLIMOOK Ha HU3KOM yYpPOBHE.

MHOFI/IC TpeGOBaHI/IH, Hpe)l’L)IBJ'I}IeMbIe K 3a1aHUI0, HC BBIIIOJIHCHBI.
N
3aganue He BBIMOJIHEHO.

3.2 KpuTepnu u 1mikana oneHHBaHNU TECTUPOBAHUS

Hepequb TECTOBBIX BOIIPOCOB U 3a,I[aHHI>i, ONMHMCaHUC TIpoUCcaAypbl TECTUPOBAHUA

MNpEACTaBJICHbBI B MCTOAUYCCKHUX MaTepruajliax I10 OCBOCHHIO JHCHUIIIIHHBI (MO,[[y.]'Iﬂ) n B

anekTpoHHOM Kypce B DMMOC MAY.
B ®OC BxitoveH TUIIOBOM BapHaHT TECTOBOI'O 3aJaHUSI:

1. The odd one out
Circle the word that does not belong to the same field in each horizontal group:

business company society subsidiary
salary manager salesman employee
finance product research marketing
distributing  selling assembling  promoting
components  tools hardware strategy
end user customer client distributor

Il. Word definition
Which of the groups of three words that you identified above refer to the following

definitions?

people wWho buy goods Or SErVICES.........ccceveiiieiiriceee e
types of commercial 0rganisations............ccccevvvivievie e
different departments or TUNCLIONS............ccuvieieiiieni i
people Who work inside @ COMPANY.........ccccveiieiiieeiieeiee e
activities that involve meeting CUStOMErS..........cccooereieneninisiees e
products that can be SOld.........coovviviiii i




I11. Adjectives of Nationality

Read the ten short passages. Below each one you will find a sentence which you
should complete using an adjective of nationality. Make sure that your sentences reflect the
information that is contained in the passage itself.

Packard Bell Electronics has already taken 10% of the US computer market and has
perform better, in some areas, than its two main national rivals Compaqg and Apple. Compaq,
Apple and Packard bell are ....................

Nordak is currently recruiting a senior manager who will head up the UK office of its

first foreign subsidiary. Nordak is not of ..........cccccoveviiieiecie i origin.
The shares of Heineken NV reached a record level of 244.5 guilders yesterday on their
home market in Amsterdam, Holland. Heinekenisa ............cccccvvvevnnnnnen. company.

The 'Societe de Bourse Franchise' publishes an annual guide to the 120 biggest national
companies whose shares are sold on the Paris exchange. The Paris exchange sells the shares of
the 120 biggest ........ companies.

Coroll have received several enquiries from companies who are interested in representing
products in Spain. However, for the time being they have no intention of expanding into that part
of Europe. Coroll has no plans to enter the ..o, market.

IV. Advertising slogans
Read the slogans and match them with the products or institutions for which you
think they were actually used.

Get into our bed and sleep better ................... a. cosmetic cream

Down under: it'shome to us ........ccccvevveennnns b. ‘Nordic ski’ exerciser
Would Mrs O'Brien trust her precious soles to just anyone. c. Australian airline company
| went to work and left my wrinkles at home ................... d. socks

Waist disposal unit................... e. matress

V. Word-Field matching
Circle the word that does not belong in to the field in each horizontal group.

1 promotion export pricing packaging

2 clause client contract brochure

3 slogan fee money pay

4 star executive actor celebrity

5 to endorse to afford to promote to support

6 computer television commercial advertisement
7 publicity image reputation agent

8 to plummet to fall to rise to drop




V1. Compounds
Match the words on the left with the words on the right to make compound nouns

which are commonly used in advertising.

shops.

shops.

market a. audience
mass b. time
target c. media
direct d. symbol
status e. research
sales f. mail

prime g. promotion

VII. Do or Make

Complete the following sentences with the correct form of make or do.

Store managers ...decisions about which products to keep and which ones...away with.
Although that company has almost the same name as ours, we have nothing ....with them.
You should ....... certain that the customers are always satisfied.

In many cases, it .... sense to stock original products that cannot be found easily in other

He....... a living as store manager for over 30 years and does not plan to retire yet.
Could you .... me a favour and work the morning shift?
...................... workers redundant is never an easy task for a manager.

VII1. Prepositions

Fill in the blanks below with the correct prepositions.

Although Leila is young, she is already successful................... business.

It is necessary........c.......... us to improve our after-sales service.

Is your computer compatible ........................ mine?

The customers are very critical .................. some of the products we sell.

We must be attentive ..........ccecvevvvievvernene the needs of our customers.

1. Our customers are fond .....the 'personal touch' that we try to emphasise in each of our

IX. Business expressions
Match a word from each of the columns below to form expressions that could be

used to replace the words in italics in sentences. Write the answers in the space provided
after each sentence.

VERBS
check 6 raise
provide 7 change
move 8 withdraw
pay 9 earn
order 10 issue

NOUNS
capital f the bill
cash g interest

foreign h a statement



'y
funds i shares
a loan J balances

In order to increase financial resources the company intends to sell units of its capital on
the STOCK MAIKEL........cveiiicc s e

Nowadays it is possible to transfer money between different accounts using an electronic
banking system installed in your hOme. .........ccccooe i

My bank has agreed to give me the money | need, repayable over three years, to help me
get the business started. ..........cccccveveeieiiieve e

It doesn't matter if the banks are closed when I arrive because I'm sure that at the hotel in
Zurich I'll be able to convert some dollars into SWiss Francs. .........cccccevvveviveieeiesieeneasiennnns

X. Company’s performance assessment

Read the following authentic newspaper headlines and decide in each case whether
they reflect a good (+), average (0) or poor (-) performance of the company's shares on the
Stock Exchange.

Matsushita expects Y85bn profit boost..........................

Welpac dives to £1.2m 10SS.......oovvviiiiiiiiiiiiiiennenn.

Philips surges to £193m in third quarter.......................

Jump in Rhone-Poulenc income....................c.ooeveeeee.

Bibby falls £10.7 into the red................oooiiiiiit.

Sumitono Metal Mining tumbles..............................

XI. Commonly confused words.

Circle the correct word in brackets in each of the following sentences.

This report examines the (relationship/relation) between education and the level of
development in Africa.

During the meeting, he made a brief (illusion/allusion) to the decline in exports to
Western Europe.

Austria has been (accepted/excepted) into the European Union.

Of the two proposals put forward, | prefer the (later/latter).

(Who's/Whose) responsible for consumer affairs in this company?

XI1. Countable and uncountable nouns.

In each of the following sentences indicate with a tick (V) or a cross (X) whether the
noun in italics has been used correctly. If not, write the sentence out correctly in the space
provided.

Their training has been organised to cover basic communication skills............c.c.ccccceeenee.

Over the years our company has accumulated a lot of experiences in the field of laser
SCANNING TECANIGUES. ..ottt bbbttt sbe e

Our premises are located in the centre Of BruSSEIS. .......cooveiiiiiiiiie i

Businesses were especially good last quarter and this will affect our profits for the year...
The datas show a fall in the number of fatal acCidents. ..........c.coovvieiiiiiiie,

Koarou:

Ne OtBeT
I

1 society
2 salary




product

assembling

strategy

distributor
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American

British

Dutch

French

Spanish
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export

brochure

slogan

executive

to afford

computer

agent

to rise

le

2C

3a

4f

5d

69

7b

make, to do

to do

make

makes

has been making/has made

do

To make/Making
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in

for

with

of

to

SEEAEI R I

of

X

1]

2f

3d

4f

5h

6a

7c

8b

©O NS R IW N

9

[EEN

0.

10i

raise capital/issue shares

move funds

provide a loan

BN

change foreign money

+ |+

relationship

allusion

accepted

latter

Who's

\

X experience

\

X Business

Ol WX O WIN X001 B WM =

X data

Onenka

Kpurepnu onenku

Omauuno

90-100 % mnpaBHIBHBIX OTBETOB

Xopouio

70-89 %  mpaBHIIBHBIX OTBETOB

Yoosnemeopumenvno

50-69 % npaBUIBHBIX OTBETOB

Heyoosnemeopumenvno

49% w MeHbIIIE IPABIIIBLHBIX OTBETOB

Kputepuu 1 mkajga OleHUBAHHS ITOCCIIACMOCTH 3aHATUI




HOCCH_IGHI/IG 3aHATUH OGy‘-IaIOH_II/IMI/ICH OMPCACIIACTCA B MPOUCHTHOM COOTHOIICHUHN

Banibl Kpurepuu oueHkH
10 nocemaemocts 75 - 100 %
5 nocewaeMocts 50 - 74 %
0 nocemaeMocts menee 50 %

4. KpnTeppm U IIKa/JIa ONCHUBAHUSA PeE3yabTaTOB Oﬁy‘leHHH no AUMCHMIIINHE
(MO)Iy.]'[]O) IpH NPpOBE€ACHUHN NPOMEKYTOUHOM ATTEeCTALINN

KpuTepuu u mikana oleHHBAHKS PE3YIbTATOB OCBOCHUS TUCIIAIINHEI (MOI[VJ'I?I)

C 3a4€TOM
Ecnu oOyuaronuiicss HaOpan 3a4eTHOE KOJIMYECTBO OAJlJIOB COTJIACHO YCTAHOBIEHHOMY
JUana3oHy Mo AUCHUILIMHE (MOAYIIO), TO OH CUUTACTCS aTTECTOBAHHBIM.

OuneHka Bansbl Kpurepuu oneHnBaHus

Habpano 3adueTHOE KOJIHMUYECTBO OAJIIOB COTIACHO
YCTaHOBJIICHHOMY THAIa30HY

3aumeno 60 - 100

3a4eTHOE KOJIMYECTBO COTJIACHO YCTaHOBJICHHOMY

He 3aumeno menee 60
Jrana3zoHy 0anoB He HabpaHo

5. 3ajaHusi AMATHOCTHYECKOIl paldoThl Il OLEHKH pPe3yJbTATOB O0Oy4YeHHSI 110

AUCHHILIMHE (MOIYJII0) B pAMKaX BHYTPeHHell ¥ BHeLIHel He3aBHCHMOM OLlEHKH KayecTBa
o0pa3oBaHus

®OC couepXuT 3afaHusl JUIsl OLEHUBAaHUS 3HAHUM, YMEHUH M  HaBBIKOB,
JEMOHCTPUPYIOIIUX YPOBEHb CQOPMHUPOBAHHOCTH KOMIETEHLUMH M HMHAMKATOPOB HX
JOCTH>KEHUS B IIPOLIECCE OCBOCHUS JUCHUIUIMHBI (MOAYIIA).

Kommnexkt 3amanuil paspabotan Takum o00pa3oM, 4TOOBI OCYLIECTBUTH MNPOLEAYPY
OLIEHKH KaXJOW KOMIIETEHLIMH, (POPMUPYEMBIX AUCHUILUIMHON (MOJIyJeM), y oOydaromierocs B
NUCbMEHHOHU (opMme.

Copep:xaHre KOMITJIEKTA 33JaHUI BKITIOUAET: mecmosble 3a0anusl.

KomnuekT 3aganuii 1MarHOCTHYECKOH padoThI

YK-5: CnocoOeH aHaTU3UpOBAaTh U yYUTHIBATh Pa3HOOOpasue KyJIbTyp B IPOLECCE MEXKYJIBTYPHOTO

B3aUMOJICUCTBUS

| Bapuanr

SOME FACTS ON THE DEVELOPMENT OF THE NUMBER SYSTEM

A Counting represents a very important milestone in the progress of civilization. Of
course there were no number names at first; so counters were used. For counters man used sticks,
pebbles, his fingers, and in some instances, his toes also. In fact the word calculus comes from

the Latin, meaning pebble; our numerals are called digits from the Latin, meaning finger.



B It is possible to mention only a few important achievements in the history of
mathematics. Historical records give evidence of the astronomical and arithmetical achievements
of the early Babylonians, Sumerians, and Chinese. Somewhere in the distant past man learned
that number was useful for civilized living. As early as 5,700 B.C. predecessors of the

Babylonians had calendar and a type of practical arithmetic.

C Only about 300 years ago a great mathematician and philosopher, Rene Descartes
(1596-1650), represented number pairs by points. This creation made possible the great advance
in science and mathematics during the eighteenth century. In 1642 one of the greatest minds of
all time Isaac Newton was born (1642-1727). Newton was one of the inventors of the calculus
which is now studied by college students who are seriously interested in mathematics or physical

science.

D Like Archimedes, Galileo, Copernicus and Newton, Lobachevsky (1792-1856) is one
of those who laid the foundations in science. Lobachevsky created one of the greatest

masterpieces of mathematics — non-Euclidean geometry.

E Our number system uses only the symbols 0, 1, 2, ... 9; it has base ten and positional
notation. Thus any integer can be expressed with these symbols in various combinations and
arrangements. The base of our system is ten. Ten is probably the base because we have ten

fingers and the fingers were used in the early stages of counting.

F It is not known when or by whom zero (nought) was invented. Historians thinks that
zero was introduced by the Hindus or the Babylonians not later than in the ninth century A.D.
and probably as early as the second century B.C. The invention of zero and our number system is
one of the greatest achievements of the human race, without which the progress of science,
industry, and commerce could be impossible. This new system was introduced in Europe by
Arabs, or Moslems, at about the beginning of the tenth century. These new numbers were used,

and finally, after about five centuries, the decimal system won the battle.

milestone — Bexa masterpiece — meneBp

pebble — ranpka, OyIbDKHUK

Buvioepume omeem, coomeemcmeyrouwuii cooepiyicanuio mekcma

1. (3muH, YK-4, I1K-3) What was the turning point in the development of civilization?

A ... the development of geometry C ... binary system of notation




B ... counting D ... the invention of a wheel

3asepuwume npeonorcenue 6 coomeenmcmeuu ¢ OCHOBHOIU memoil adzaua
2. (3mun, YK-4, TIK-3) The passage F is about
A ... the development of counting in Europe
B ... the progress in Hindus industry
C ... the spreading of the knowledge about number zero round the world
D ... the Babylonians
Onpeodenume, 6 Kakom adzaye cooduiaemcs

3. (3mun, YK-4, [1K-3) 0 TOM, 4TO B APEBHOCTH JIFOAM UCIOJIb30BAIH I Cu€Ta HEe HUPpPHI, a

IaJoO4KHu, KaMCIIKH U T.II.

4. (B3mun, YK-4, TIK-3) Boeibepume npeonodcenue, coomeencmeyioujee cooepiHcanuio

meKkcma.
A Newton was the first who represented number pairs by points.
B It is well known when and by whom zero was invented.
C The Latin word calculus means sticks.

D One of the important achievements in the history of mathematics was the creation of
non-Euclidean geometry.

Ilpouumaiime nauano npeodnoxcenus u gploepume €20 nPOOoaNHceHue
5. (3mun, YK-4, TIK-3) The base of our system is ten because
A ... early Chinese used ten as the base for counting
B ... ten fingers were used in the early stages of counting
C ... Archimedes introduced this number
D ... mathematicians found this number very useful

Coommnecume oannvie ymeep.ucdenml C coomeemcmeyrouiumu a63auamu meKkcma

(A,B,C,D,EunuF)




6. (3mun, YK-4, I1IK-3) Ten numeration system came to Europe at about 10th century.
7. (3mun, YK-4, T1K-3) The modern form of calculus was invented by Newton.
8. (3mun, YK-4, TIK-3) At first numbers had no names.
9. (3muH, YK-4, T1K-3) The word digit came from Latin.
10. (3mun, YK-4, T1K-3) A point can be represented by a pair of numbers.

3amenume CJ1060, oamnHoe 6 c1<061<ax, AHZIAUTLCKUM IKBUBATIEHIOM
11. (2 mun, YK-4, T1K-3) (Hdpo6wu) like ¥ represent values less than one.

12. (2 mun, YK-4, I1IK-3) If (mHOXecTBa) contain the same elements in exactly the same order

they are equal.

13. (2 mun, YK-4, TIK-3) (Cnoxenwue) is the reverse operation of (Beruntanus).

14. (2 mun, YK-4, TIK-3) Two number lines are intersected to form a coordinate (miockocts).
15. (2 mun, YK-4, TIK-3) (Iyra) is a curved segment of a circumference.

16. (2 mun, YK-4, TIK-3) To find the value of the (mepemennas) we should solve the equation.

17. (2 mun, YK-4, TIK-3) The chess-board Geometric Progression is an (Bo3pacrarorias)

progression.
18. (2 mun, YK-4, TIK-3) The common (cootrnomenue) of a progression may be negative.
19. (2 mun, YK-4, TIK-3) The (u3mepenus) are to be as precise as possible.

20. (2 mun, YK-4, TIK-3) A (tpeyronsnuk) is a plane figure founded by three straight lines and

containing three angles.
21. (2 mun, YK-4, T1IK-3) You can check (nenenue) by (ymHOXEHUEM).

Bcmasvme ¢popmy cxazyemozo

22. (2 mun, YK-4, TIK-3) Mike came when | the equation.
23. (2 mun, YK-4, TIK-3) He just a square.
24. (2 muH, YK-4, TIK-3) We a chord as a line whose endpoints are the points of a

circumference.



25. (2 mun, YK-4, TIK-3) Newton a professor of mathematics in 1669.

26. (2 mun, YK-4, IIK-3) Listen, she the second proof of this theorem now.

27. (2 mun, YK-4, TIK-3) Polynomials always more than one term.

28. (2 mun, YK-4, I[IK-3) She just the result.

29. (2 mun, YK-4, TIK-3) The teacher about the features of plane figures now.

30. (2 mun, YK-4, T1K-3) Lobachevsky non-Euclidean geometry in the 19" century.
31. (2 mun, YK-4, TIK-3) The student used this theorem while he the problem.

3amenume MoOaIbHBLI 2714201 IKEUBAICHINOM
32. (2 mun, YK-4, I1K-3) He must prove this statement.
33. (2 mun, YK-4, TIK-3) She can give the definition of closure.
Ynompeﬁume coomeemcmeyrouiyro Cmenenb Cpa6HeHusn
34. (2 mun, YK-4, I1K-3) He met his friend yesterday. (good)
35. (2 mun, YK-4, I[IK-3) Public transport in London is (expensive) than in Paris.
Ilepeseoume npeodnosrcenusn

36. (2 mun, YK-4, TTIK-3) The man standing at the desk is my research adviser.
37. (2 mun, YK-4, TIK-3) They expect to be given complete information by Friday.
38. (2 mun, YK-4, TIK-3) The problem being easy, the students solved it at once.
39. The problem is likely to be solved.

Ilocmasvme cnoea ¢ npasujibHoOm nopﬂdlce

40. (2 mun, YK-4, T1K-3) the news — yesterday — saw — television — I —on

KJIFOYH | BapuanT:

1 B/2 C/3 Al4 D/5 BI6 FI7 CI8 A/9 A/10 C/1lfractions/12 sets/13 addition, subtraction/14
plane/15 an arc/16 unknown/17 increasing/18 ratio/19 measurements/20 triangle/21 division,



multiplication/22 was solving/23 has drawn/24 define/25 became/26 is giving/27 contain/28 has
checked/29 is speaking/30 developed/31 was solving/32 has to/33 is able to/34 best/35 more
expensive/36 YenoBek crosmmidi y crola — MOM Hay4Hblii pykoBoautenb. /37 OnHu
pPacCUYMTHIBAIOT Ha TO, YTO MM JaAyT MOJHYI0 nHpopMmanuio K maTauie. /38 ITockonbky 3amada
ObLIa JIETKOM, CTYAEeHTHI pemmn eé cpasy. /39 BepostHo, 3amauy pemrar. /40 Yesterday | saw

the news on television.

Il BapuanT

THE DIFFERENTIAL CALCULUS

A The differential calculus is concerned with rates of change. In practical life we
constantly come across pairs of quantities which are related, so that after both have been
measured, when we know one, we know the other. Thus if we know the distance along a road
from a fixed point we can find the height above sea level from a map with contours. If we know
the time of day we can determine the air temperature on any particular day from a record of a
thermometer made on that day. In such cases we often want to know the rate of change of one

relative to the other.

B If x and y are the two quantities, then the rate of change of y to x is dy/dx. For example
if x is the distance of a point on a railway from London, measured in feet, and y the height above
the sea level, dy/dx is the gradient of the railway. If the height y increases by 1 foot while the
distance x increases by 172 feet, the average value of dy/dx is 1/172. We say that the gradient is
1in172.

C The mathematical part of the calculus is the art of calculating dy/dx if y has some
mathematical relation to x, for example is equal to its square or logarithm. The rules have to be
learned like those for the area and volume of geometrical figures, and have the same sort of
value. No area is absolutely square, and no volume is absolutely cylindrical. But there are things
in real life like enough to squares and cylinders to make the rules about them worth learning. So
with the calculus it is not exactly true that the speed of a falling body is proportional to the time

it has been falling. But this is close enough to the truth for many purposes.

D The differential calculus goes a lot further. Think of a bus going up a hill which
gradually gets steeper. If x is the horizontal distance, and y the height, this means that the slope
dy/dx is increasing. The rate of change of dy/dx with regard to y is written d? y / dx. In this case

it gives a measure of the curvature of the road surface. In the same way if x is time and y



distance, d? y / dx? is the rate of change of speed with time, or acceleration. This is a quantity
which good drivers can estimate pretty well, though they do not know they are using the basic

ideas of the differential calculus.

E If one quantity depends on several others, the differential calculus shows us how to
measure this dependence. Thus the pressure of a gas varies with the temperature and the volume.
Both temperature and volume vary during the stroke of a cylinder of a steam or petrol engine,

and the calculus is needed for an accurate theory of their action.

contours — zeodes. ropu30HTAIb slope - ykion
gradient — rpagueHT, yKJIOH estimate - oueHuBaTh
steeper — 6osiee KpyTOI stroke — xox

Boioepume omeem, coomeemcmeyouiuil coOOepHcanuio mekcma
1. (3 muH, YK-4, [IK-3) What is the purpose of differential calculus?
A ... to measure the dependence on other disciplines
B ... to find the value of one unknown
C ... to calculate related quantities
D ... to calculate the product of two quantities
3agepuiume npeonosicenue 6 cCOomeemcmeuu ¢ OCHOGHOI memoil adaya
2. (3 muH, YK-4, TIK-3) The passage A is about
A ...the applying differential calculus to our everyday life problems
B... the way of finding the height above the sea level
C... the way to determine the air temperatures
D ... the formulas used for differential calculus usage

Onpeodenume, ¢ Kakom ad3aye cooouyaemcsa
3. 3 mun, YK-4, IIK-3) o Tom, uro auddepeHnnanbHble BBIYMCIEHUS CTOUT H3yuaTh,

IMMOCKOJIBKY OHH UMCIOT IIMPOKOC IMPAKTHUICCKOC NPUMCHCHHC.




4. (3 mun, YK-4, TIK-3)  Bwioepume npeonosicenue, coOmeemcmeyouiee cooepiHcanuio

meKcma.
A Differential calculus deals with constant values.
B Differential calculus deals with one or more dependant values.
C Differential calculus deals with two or more independent values.
D Differential calculus deals with two values only.
IIpouumaiime nauano npeonoxcenusn u gvloepume €20 nPOOoJIHceHue

5. (3 muH, YK-4, I1K-3) Differential calculus is applicable to know ...

A ... the Cartesian product. C ... the radius of a circle.
B ... the difference of two or more values. D ... the rate of change of one related value to
the other.

Coomnecume OanHvle ymeeprHcoeHUs ¢ coomeemcmayromumu aozayamu mexkcma (A,

B, C, D uau E)

6. (3 mun, YK-4, I1K-3) Using differential calculus we can find out the dependence between the

volume and the temperature of gas inside an engine.

7. (3 muH, YK-4, TIK-3) We can find the rate of change of related numbers by the formula
dy/dx.

8. (3 muH, YK-4, TTK-3) We often deal with two related quantities in our everyday life.

9. (3 muH, YK-4, I1K-3) The usage of differential calculus in our everyday life is like the usage
of our knowledge about volumes of geometric objects.

10. (3 mun, YK-4, IIK-3) Sometimes people use the basic ideas of the differential calculus

without realizing this fact.
3amenume Ccj1oé6o, oannoe 6 cxo61<ax, AH2IUTICKUM IKGUBATICHIOM

11. (2 mun, YK-4, TIK-3) A (tpeyronsnuk) is a plane figure founded by three straight lines and
containing three angles.

12. (2 mun, YK-4, T1K-3) (dpo6mu) like ¥ represent values less than one.




13. (2 mun, YK-4, I1IK-3) The common (cootnomenue) of a progression may be negative.

14. (2 mun, YK-4, TIK-3) If (MaOkecTBa) contain the same elements in exactly the same order

they are equal.
15. (2 mun, YK-4, TIK-3) You can check (nenenue) by (ymHO)eHHEM).
16. (2 mun, YK-4, [IK-3) (Cnoxenwue) is the reverse operation of (Bbrunrtanus).

17. (2 mun, YK-4, TIK-3) The chess-board Geometric Progression is an (Bospacrarorias)

progression.

18. (2 mun, YK-4, TIK-3) Two number lines are intersected to form a coordinate (miockocts).
19. (2 mun, YK-4, T1K-3) (Hyra) is a curved segment of a circumference.

20. (2 mun, YK-4, TIK-3) To find the value of the (nepemennas) we should solve the equation.
21. (2 mun, YK-4, TIK-3) The (u3mepenus) are to be as precise as possible.

Bcmaesvme popmy cxkazyemozo

22. (2 mun, YK-4, T1IK-3) She just the result.

23. (2 mun, YK-4, I1K-3) The teacher about the features of plane figures now.

24. (2 mun, YK-4, T1K-3) Mike camewhen|___ the equation.

25. (2 muH, YK-4, TIK-3) We _ achord as a line whose endpoints are the points of a

circumference.

26. (2 mun, YK-4, T1K-3) He just a square.

27. (2 mun, YK-4, T1K-3) Lobachevsky non-Euclidean geometry in the 19" century.
28. (2 mun, YK-4, TIK-3) The student used this theorem while he the problem.

29. (2 mun, YK-4, TIK-3) Newton __ a professor of mathematics in 1669.

30. (2 mun, YK-4, T1K-3) Listen, she the second proof of this theorem now.

31. (2 mun, YK-4, T1K-3) Polynomials always more than one term.

3amenume mooanvHblil 2142071 IKEUBATIEHIMOM

32. (2 mun, YK-4, TIK-3) He must prove this statement.



33. (2 mun, YK-4, TIK-3) She can give the definition of closure.
Ynompeﬁume coomeemcmeyroulyro Cmenenb Cpa6HenHus
34. (2 mun, YK-4, TIK-3) He met his friend yesterday. (good)
35. (2 mun, YK-4, T1K-3) Public transport in London is (expensive) than in Paris.
Ilepeseoume npeonosricenusn
36. (2 mun, YK-4, I1IK-3) The problem is likely to be solved.
37. (2 mun, YK-4, TIK-3) The man standing at the desk is my research adviser.
38. (2 mun, YK-4, TIK-3) The problem being easy, the students solved it at once.
39. (2 mun, YK-4, TIK-3) They expect to be given complete information by Friday.
Ilocmaevme cnosa 6 npasujibHom nopﬂoke

40. (2 mun, YK-4, TIK-3) the Institute — does — live — he — near?

KJITOYMU || Bapuant:

1 C/2 B/3 Al4 B/5 D/6 E/7 B/8 A/9 C/10 D/11 triangle/12 fractions/13 ratio/14 sets/15 division,
multiplication/16 addition, subtraction/17 increasing/18 plane/19 an arc/20 unknown/21
measurements/22 has checked/ 23 is speaking/24 was solving/25 define/26 has drawn/27
developed/28 was solving/29 became/30 is giving/31 contain/32 has to/33 is able to/34 best/35
more expensive/36 BepositHo, 3amauy pernar./37 YenoBek CTOANIMIA y CTOJIa — MOW HaydHBIN
pykoBoauTens./38 T[lockoabpKy 3amada ObUTa JIETKOW, CTYIACHTHI pemmmin e€ cpaszy./39 Ounu
pacCUMTHIBAIOT HA TO, YTO UM JIAyT NOJHYI0 nHpopmaimio k msrauie./40 Does he live near the
Institute?
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